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1. Write the meaning of following words : (4)
(a) pardon
(b) refine
(c) online
(d) terrible
2. Fill in the blanks with demonstrative pronouns: (2)
(a) is our new home. (this/these)
(b) Is your mother. (that/those)
3. Write the correct articles : (4)
(@) pencil (b) bicycle
(c)____ hour (d) Indian Ocean
4. Write the antonyms : (4)
(a) fail (b) despair
(c) ebb (d) cruel

5. Underline the verb then write A for action verb, L for Linking verb and H for
having verb.. (2)

(a) Your clothes are dirty.



(b) We sat on mat.

5. Answer the following question :. (4)

(a) Why was the miller unable to rest that stormy night?

(b) Which thing has Grandma disappeared?
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1.Fill in the blanks :. (5)
1. In temples, are organised.
2. Chicken, fish and egg are type of food.
3. Oceans and sea have water.
4. An designs the plan of a building or houses.
5. Must and sunflower are cultivated to produce
2. Choose the correct option:. (5)
1. Under scheme, nutritious food is provided to students
for free.

(a) wellness ( ) (b) Health ( ) (c) mid Day Meal ( )



2. helps to get rid of undigested food.

(a) roughage ( ) (b) protein ( ) (c) fat ( )
3. Ponds and are water bodies which are found on land.
(@) Ocean ( ) (b) sea ( )  (c) lake. (

)
4. is not used for making the houses in cities.
(@) cement ( ) (b) mud ( ) (c) iron ( )

5. Poor condition of health caused by lack of proper food is called

(a) Malnutrition ( ) (b) weakness ( ) (c) starvation ( )
3. Write true or false:. (2)

1. A plumber lays the bricks.

2. Drying is the first step of making the bricks.

6. Write the answer:. (8)

1. What is locality?

2. What is roughage?

3. What is evaporation?

4. Which soil is the best for making bricks?
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1)Fill in the blanks : (5)
1) 1 min.= seconds

2) Division is sharing

3) Dividend= (Divisor X ) + Remainder 4)For

Simplification we use DMAS in which “D” stands for

5) x 3000 = 27000

2)Choose the correct answer: (5) 1)
Each person can carry 36 toys in a basket How many toys can

be carried in 45 such baskets?
a)1520. b)1620. c)1720 2)Which

one is a leap year?

a)1976. b)1942. c)1934
3)7025 x =0
a) 7025. b)1. c) 0

4) 4210 x 3406 = 4210 x
a)4210 b)3406. C)1
5)Simplify 18x12+16x4-9x12

a) 176. b) 172. C)170



3) Represent the following time by drawing the hands of the clock:

(2)
4)Convert :
1 year 3 months to days

15 days into hours

5)Solve
1) 179 x 321
2) Divide 5607 by 89

3) 45x78x23
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